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Test No. 2. Accounting 2122, Spring 2013.  


Name:  __________________________________________ Row in Class ____

Failure to follow instructions below will result in a 5 point reduction in your grade.

Multiple Choice- 25 questions count 4 points each for a total of 100 Points. 

1. Use a soft-lead pencil

2. Enter name in appropriate space above. Write clearly.

3. Circle class time above.

4. Enter above the row number for your seat in class.

On the Opscan Sheet

5. Enter name (last name first) in the area for “NAME.”  

6. Enter student ID number in the area for “IDENTIFICATION NUMBER.” 

7. Enter test number (found in upper right hand corner of this page) in the special codes area.

8. Blacken the area in the circle containing the appropriate letter for each question.

Answer each question by marking the letter representing the best answer.
Please use the following information for the next 4 questions on this test.

Your client will open a store in a town in the mountains of North Carolina.
Your client's business will sell fruit baskets.
Your client will pay store rent (including utilities) of $4,000 each month.
The other fixed cost will be a monthly salary to the store manager of $2,000 per month.
Each fruit basket (including fruit) will be purchased for $12.00.
Each basket (including fruit) will sell for $20.00. Client will have no other cost.
autonumout  How many baskets must be sold each month to break even?
	a.
	750   
	b.
	1,000   
	c.
	1,250   
	d.
	1,375
	e.
	Other
	


autonumout  How many baskets must be sold each month to have profit of $5,000 before income taxes?
	a.
	750   
	b.
	1,000   
	c.
	1,250   
	d.
	1,375
	e.
	Other
	


autonumout  Your client is will pay the store manager a bonus of $2 per fruit basket sold, in addition to 
her base salary of $2,000 per month. How many baskets must be sold each month to break even? 

	a.
	750   
	b.
	1,000   
	c.
	1,250   
	d.
	1,375
	e.
	Other
	


autonumout  Your client is in the 25% income tax bracket. The manager will not receive the bonus 
mentioned in the preceding question. Manager will only be paid $2,000 per month.
How many baskets must be sold each month to earn after-tax profit of $3,000?  

	a.
	750   
	b.
	1,000   
	c.
	1,250   
	d.
	1,375
	e.
	Other
	


autonumout   Boston Co. is considering an expansion program based on the following data:

	Expected sales
	$1,000,000    

	Variable costs
	800,000     

	Fixed expenses
	100,000


What is the amount of break-even sales?

	a.
	$400,000   
	b.
	$420,000
	c.
	 $250,000  
	d.
	$300,000
	e.
	$500,000
	


autonumout  At breakeven point of 100 units sold, variable costs were $2,400 and fixed costs were $600.  
What will the 101st unit sold contribute to profit before income taxes?
	a.
	 $6.00      
	b.
	$0.50      
	c.
	$1.00      
	d.
	$1.50    
	e.
	$4.00
	


autonumout  Super Candy sells for $2.00 per bar and has related variable expenses of $1.50 per bar.  Fixed expenses of producing Super Candy are $40,000 per month.  How many bars of Super Candy Company must be sold each month for the Super Candy Company to have a monthly income (before income taxes) of $60,000?

	a.
	200,000
	b.
	300,000
	c.
	400,000
	d.
	135,000


autonumout  Better Candy sells for $2.00 per bar and has related variable expenses of $1.50 per bar.  Fixed expenses of producing Better Candy are $100,000 per month.  Better Candy Company is in the 50% income tax bracket. How many bars of Better Candy must be sold each month for the Better Candy Company to have a monthly income (after income taxes) of $50,000?

	a.
	300,000   
	b.
	200,000   
	c.
	400,000   
	d.
	135,000   
	e.
	450,000
	


autonumout  Kern Company prepared the following forecast concerning product A for the year:

	Sales
	$500,000

	Selling price per unit
	$   5.00

	Variable costs
	$300,000

	Fixed costs
	$150,000


A study made by the sales manager disclosed that the unit selling price could be increased by 20%, with an expected volume decrease of only 10%.  Assuming that Kern incorporates these changes in its annual forecast, what should be the operating income from product A?

	a.
	$66,000
	b.
	$90,000
	c.
	$120,000
	d.
	$145,000


Use the following data for the next four questions:

	Unit selling price
	$50

	Variable costs per unit  
	

	Direct materials
	16

	Direct labor
	5

	Variable manufacturing overhead
	4

	Variable selling and administrative expense
	5

	Total fixed costs per year
	$240,000

	Estimated sales  volume for the year
	12,000 units

	(All production is sold i.e. no ending inventories.)
	


autonumout  The break-even volume in units is:

a. 6,000       b. 7,500       c. 9,000       d. 12,000       e.  Other.

autonumout  Assume sales volume of 15,000 units. The net income to be realized will be

a. $60,000       b. $40,000      c. $50,000      d. $20,000     e. $0 

autonumout  The volume in terms of sales dollars needed to yield a net income (before income taxes) of $50,000 is:

a. $750,000    b. $600,000    c. $500,000    d. $480,000   e. $725,000

autonumout  Assume the original data. If the yearly fixed costs are increased $30,000, the volume in terms of sales dollars needed to break even is:

a. $450,000     b. $500,000     c. $600,000    d. $675,000.  e. Other.

-----------------

autonumout  The cost-volume-profit analysis for a breakeven chart does not assume that 

a. Unit price will remain fixed.        

b. Production level will equal sales.

c. Some costs vary inversely with volume.  

d. Costs are linear and continuous over the relevant range.   
autonumout  The break-even point in sales units is found by dividing total fixed expenses by: 
a. the contribution margin ratio.
b. the variable expenses per unit.
c. the sales price per unit.
d. the contribution margin per unit.

autonumout   The contribution margin ratio is 30% for the Honeyville Company and the break-even point in sales is $150,000. 

If the company's target net operating income (before tax) is $60,000, sales would have to be: 

	a.
	$200,000  
	b.
	$350,000
	c.
	$250,000
	d.
	$210,000   
	e.
	Other
	


autonumout  South Company sells a single product for $20 per unit. 
If variable expenses are 60% of sales and fixed expenses total $9,600, the break-even point will be: 

	a.
	 24,000
	b.
	$14,400
	c.
	$9,600
	d.
	$16,000   
	e.
	Other
	


Use the following information for question no. 18 and question no. 19.
The Coat Center sells coats and ties. Each coat sells for $100. Each tie sells for $50.

The company generally sells an average of 2 ties with each coat sold.

The following information is budgeted for the coming month

	
	Retail 
	Unit
	Unit
	Cont.
	Number
	Total
	Total

	
	Price
	Cost
	Cont.
	%
	Sold
	Sales
	Contribution

	Coats
	$100
	$60
	$40
	40%
	1,000
	$100,000
	$40,000

	Ties
	$50
	$25
	$25
	50%
	2,000
	$100,000
	$50,000

	
	
	
	
	
	
	$200,000
	$90,000

	
	
	
	Rent and other fixed Costs
	$22,500

	
	
	
	Net income before taxes
	
	$67,500


autonumout  What amount of sales would be needed to breakeven?

	a.
	$50,000   
	b.
	$75,000   
	c.
	$100,000   
	d.
	$150,000
	e.
	Other
	


autonumout  We will increase the number of coats sold to 1,200 and reduce the number of ties sold to 1,600.

Total sales will still be $200,000. Assume this is the only change in operations. 
With this change, the amount of total sales needed to reach break-even point will:
	a.
	Decrease   
	b.
	Increase 
	c.
	Remain unchanged  
	
	
	d.
	Other
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This information for Charlotte Corp. should be used for the next three questions.

Top section (half) of table covers all production of the company. Bottom sections cover 3 jobs.

 Budgeted Cost

Direct Materials

Direct Labor Cost

Activities:

 Budgeted Cost

Activity Cost

Engineering 1,000

Machine setup 200

Material handling 8,000

Inspection 6,000

Total Overhead

Info. for 3 Jobs:

Direct Materials

Direct Labor

Overhead - Below:

Units Completed

100 50

200

Overhead

Activity

Cost Total

Activity

Cost Total

Activity

Engineering hours 10 120 $   50 120 $  10

No. of setups 1 100 $   2 100 $  3

No. of material moves 20 10 $     10 10 $    50

No. of inspections 30 20 $     10 20 $    30



$5,000 $12,000 $8,000

$4,000 $4,000 $4,000

Number of inspections

$120,000



$340,000



Job-1 Job- 2

Job-3



Engineering hours

$120,000

Number of Setups

$20,000

No. of material moves

$80,000

   Cost Driver

Bud. Activity



$300,000



$200,000


autonumout  If the company applies overhead items above based on direct labor cost for a job, the overhead cost assigned to Job 1 would be:

a. $2,800    b. $5,600   c. $6,800   d. $7,000  e. Some other amounts

autonumout  If the company uses activity-based costing, how much overhead cost should be assigned to Job 1?

a. $1,300    b. $1,400    c. $1,500   d. $2,000   e. $2,100
autonumout  If the company uses activity-based costing, compute the cost of each unit in Job 2.

a. $340       b. $350        c. 450         d. $520

autonumout  The management of VJ Singh produces two models of a product. The company uses activity-based costing to apply manufacturing overhead cost to products. Information relating to the manufacturing overhead costs for the two products and the activities involved is presented below:

	Activity cost pool
	Activity Measure
	Estimated overhead cost

	Machine setups
	Number of setups
	$180,000

	Special processing
	Machine-hours
	120,000

	General factory
	Direct labor hours
	600,000

	
	
	$900,000

	Total  Expected activities:
	Super Model
	Regular Model
	Total

	Number of setups
	30.00%
	70.00%
	100%

	Machine hours
	60.00%
	40.00%
	100%

	Direct labor hours
	20.00%
	80.00%
	100%


        What is the amount of machine set up cost that should be assigned to the Super model?

	a.
	$120,000
	b
	$54,000   
	c.
	$126,000    
	d.
	$600,000
	e.
	Other


autonumout  Aujla Corporation uses activity-based costing to determine product costs for external financial reports. 
The company has provided the following data concerning its activity-based costing system:

	Activity Cost Pools
	Activity measures
	Estimated overhead cost

	Machine related
	Machine hours
	$239,000

	Batch setup
	Setups
	$234,900

	General Factory
	Direct labor hours
	$159,300


	
	Estimated Activity
	
	

	Activity Cost Pools
	Product X
	Product Y
	Total

	Machine related
	4,000
	6,000
	10,000

	Batch setup
	8,000
	1,000
	9,000

	General Factory
	3,000
	6,000
	9,000


The activity rate for the cost pool for Machine related activity is closest to: 
	a.
	  $70.40   
	b.
	$29.40   
	c.
	  $26.10   
	d.
	$23.90 
	e.
	Other
	


autonumout   A company that adopts an activity based costing system is likely going to get greater accuracy in accounting for : 

	a.
	Manufacturing overhead costs
	

	b.
	Raw materials costs

	c.
	Direct labor costs


